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Sl. No.1
QBID:1007151

From among the four options given. choose the one which 1s a grammatically correct pair of
sentences.

(1) ‘Every family have a story. welcoming to ours’. These were the word mnscribe on gold
in the sleeve of a big. black photo album that Ananya 1s hold in her hand.

(2) ‘Every families has a story. welcome in ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananya will be holding by her hand.

(3) ‘Every family had a stories. welcome to our’. These were a words inscribed in golden
on the sleeve of a big. black photo album that Ananyva was hold in her hand.

(4) ‘Every family has a story. welcome to ours’. These were the words inscribed in gold on
the sleeve of a big. black photo album that Ananya was holding in her hand.

(1) 1
(2) 2
(3) 3
(4) 4

FefefiEd 0 8 9 7 & S TH SiE 91 87

1 @a (2) Tai
(3) g (4) =78

i }

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.2
QBID:1007152

Which of the following 1s a one-word substitute for “hard but liable to break™

(B Brittle (2) Frail
(3 Tenuous (4) DMNlortal
(1) 1
(2) 2

(3) 3




(4) 4

(1) ke (2) U5
(3)  au (4) ==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

Sl. No.3
QBID:1007153

“Because of bad weather the mountaineers are in a quandary.”
From the following options pick the correct synonym of the word in italics.
(1) Quiet (2) Panicked

(3) Anxiety {(4) Dilemma

(1) 1
(2) 2
(3) 3
(4) 4

HFH A AT G AW FE T FE B

(1) = (2) 9mE
(3) g (4) wTUEH

11
(2) 2
(3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.4
QBID:1007154

Which tense 1s used for habitual actions?
(1) Present progressive (2) Simple present

(3) Present perfect (4) Present perfect progressive




(1) 1
(2) 2
(3) 3
(4) 4

Fefetad # 7 wg a0t e 75 g

(1) SR 2) i
(3)  FTHEI (4)  TFFAH
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11113]
2[Option ID=11114]
3[Option ID=11115]
4[Option ID=11116]

Sl. No.5
QBID:1007155

Match List I waith List IT.

List I List IT
(Word) {(antonym)
(A) tardy (I}  warm
(B) wvalidate (II) nervous
(C) tepid (III) refute
(D)  unruffled (IV) prompt

Choose the correct anawer from the options given below :

(1) {A)-(III). (B)-(IV). (C)-(D). (D)-(II)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1T)
(3) (A)-(III), (B)-(IV). (C)-(ID). (D)y-(I)
(4) {(A)-(IV). (B)-(IIL). (C)-(I). (D)-(1I)

(1) 1
(2) 2
3) 3
(4) 4




Ffeatag S+ s9aE vd 98 F9 5 e

(A)  WHE A By FEGET 6 HT

®) Tt = g o, F et

(C) 7 & UM soAfavaTE [ =R [ wifer
D) =4 =TT TE

(E) #ft #7 s w1 w72 2 artee ek

4= fgu o fawea 4 O gE I w1 999 Fifeu

(1) (A). (E). (C). (B). (D)
(2) (A). (B). (D). (E). (C)
3 (B). (C), (E), (D). (A)
(4) (C). (D). (B). (A). (E)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11117]
2[Option ID=11118]

3[Option ID=11119]
4[Option ID=11120]

Sl. No.6
QBID:1007156

Pick out the correctly spelt word

(1) prenunciation (2)
(3) prunniciation (4)
(1) 1
(2) 2
(3) 3

(4) 4

pronanclation

pronunclation




Hr 51 FYF for T : vF ATYHYA (Assertion (A)) % 9 ¥ fafigd # a7 g8 386 FAW (Reasons (R))

HEGH
HTHE (A) Tl G S 2 A1 T Hiars whi S SH SehE 619 9 ug) e 2
FE7 (R) FHFAT HIT I GEER FES A H WY Fa & o T 96T SR o S 2

I HYA + AT H, Fi9 5 T e § 9 58 39 0 =999 it

(1)  (A) 3 (R) TH O3 & 11 (R), (A) Fi H&l =men 2

(@ (A 3 (R)FE A 7, @ (R), (A) F = =wen 765 2
3  (A)F &, 9 (R) 78 2

4) (A ¥Ee 2, S (R) 2

1)1
(2) 2
(3) 3
4) 4
1[Option ID=11121]
2[Option ID=11122]

3[Option ID=11123]
4[Option ID=11124]

Sl. No.7
QBID:1007157

From among the four options given. choose the most appropriate sequence for the four
phrases given below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D) the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (A). (C)
(3) (D). (B). (C). (A4)
(4) (A). (C). (D). (B)




(3) 3

(4) 4

Ffafad 4 @ < wg a9 fofea fifsw
(A) T T g aed a2

(B) Al 99 F 9o 9 B

(C) il =& § wed) e 2|

(D) ®a ° wd 9yd i 331 AT |

(E) S 9T g 99H Sl 31 AT

= Teu U fEHedl § O O I F 999 i

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A (A) 3 (B)
Fae (C) #1 (E)
Fad (A) 3R (D)
“as (B) 3R (D)

1[Option ID=11125]
2[Option ID=11126]
3[Option ID=11127]
4[Option ID=11128]

Sl. No.8

QBID:1007158

Identify the correct form of indirect speech of the following sentence.

The magistrate said to the lawyer. “You should submit yvour evidence now".

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The magistrate asked the lawyer to submit his evidence then.
The magistrate told the lawver that he should submit his evidence then.
The magistrate told the lawyer that he must submit his evidence now.

The lawver requested the magistrate to subnut his evidence then.




S e S e o e e B

(1) =l (2) oTaH

(3) =W 4 fog

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11129]
2[Option ID=11130]

3[Option ID=11131]
4[Option ID=11132]

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his friends would desert him when he would need them the
most.
(1) Assent (2) Accept
(3) Except {(4) Expect
(1) 1
(2) 2
(3) 3
(4) 4
i1 % =g g=-I1 =1 T =it
-1 11
Ei THEETE
A) == M =i
(B) 94 (IT) =Ar=nre
(C) o=. (IIT) e
(D) =3fem (IV) ===
4= fgu o fgweai 4 O uE I W 999 fifen

(1) (A)-aID), (B)-ID). (C)-aV). (D)-I)
2y  (A)-AV). (B)-(IID), (C)-(I), (D)-(II)
(3) (A1), (B)-ID. (CO)-(III). (D)-(IV)
4y (A)-dD. (B)-(D. (C)-(IV). (D)-IID)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=11133]
2[Option ID=11134]
3[Option ID=11135]
4[Option ID=11136]

Sl. No.10
QBID:1007160

Choose the correct passive voice of the following sentence.
People say that children are afraid of ghosts.
(1) It has been said that children are afraid of ghosts.
(2) It 1s believed that children are afraid of zhosts.
(3) It 1= often said ghosts are afraid of children.
(4) It 1s said that children are afraid of ghosts.

1)1

(2) 2

(3) 3
(4) 4

Frefetias @ @ SERitEAT 9E=T

(A) T = G I

(B)  TI'E H HIE 9T

(C) =i =4 4 54 @

(D)  diefi St | A8 Heera

(E) M WA

Fra fou o famweat @ O oF I w1 9= Fifse

(1) a4 (A). (B) @R (E)
(2)  FaEa (B). (C) 3k (D)
(3)  Fad (A). (C) 3 (D)
@) ¥4 (A). (D) 3 (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11137]
2[Option ID=11138]

3[Option ID=11139]
4[Option ID=11140]

Sl. No.11
QBID:1007161




What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad (2) Raebareli
(3) Phulpur (4) Barabanki

(1) 1
(2) 2
(3) 3
(4) 4

TEATEET AFE A SE-AE | AR S g4 A1 4R A 47

(1)  someEmR (2)  TEEE
(3) FAX (4) =HEH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11141]
2[Option ID=11142]

3[Option ID=11143]
4[Option ID=11144]

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) mmproved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous vear
(4) mmproved marginally
(1) 1
(2) 2

(3) 3
(4) 4

T SuEley HAEY (WR.0wE, ) 4 S 2021 % "0 § S 46 SUE § T8 5 HE -

(1) 24 37 9 =57 T 2| (2) 56 37F 92 T &
(3) Tuzs 99 % 9uE # 7 (4) =r=T e R
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain {(2) Triangle in Square

(3) Triangle of Sadness (4) Tnangle of Joy

(1) 1
(2) 2
(3) 3
(4) 4

=iz % 5" oo =e4 sAze-s 4 w1 78 T5en + v W 13 917 (Palmed'or) THRE @1 7

(1) T 2R HI5-2A (2) ZEEATA 3
(3)  TIEUATE ATE d=AH (4) ZTETATA SATF Aie
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]

Sl. No.14
QBID:1007164

What is done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

(1) 1
(2) 2
(3) 3
(4) 4




AT HEA T99H % few == o =i 27

(2)  AfE A FH B AW H AGEANGT F A A= 2
(3) UEel 33 W1 F I O WiGEeniea K 5 S 2
(4)  OET F T FF H A WG T e 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11153]
2[Option ID=11154]

3[Option ID=11155]
4[Option ID=11156]

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Society
(3) United Nations

(4) National Dialogue Quartet

(1) 1
(2) 2
(3) 3
(4) 4

(1) 7= ==

(2)  HAGEEE 15 wE AEEd
(3) HIE T

(4 ™ =99 T4

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=11157]
2[Option ID=11158]
3[Option ID=11159]
4[Option ID=11160]

Sl. No.16
QBID:1007166

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash
does not want to be a film director.

Which one of the following has the opposite logic?

(1) People who go for walk are healthy. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice.
(3) A Soldier's life 1s full of dangers. but military 1s never short of manpower.

(4) There 1s no substitute for hard work.

(1) 1
(2) 2
(3) 3
(4) 4

Ton e 31 Hed a2 A 9 W 7| TR e H O Al B S SEeT, T (e e 6
AT =TEAT 2

i~ i~ ,z-\r 'Ei"‘ﬁ'f.:l_‘h O ."l: l‘r~ qu':l%?

(1) =7 & Z8eH 9 7 F T 7 21 # ZeeH Tl S oEal SR # = 6 R

(2) TS S HEE: S B 7, o o U TE 7| BetE | OeEias &, WA T A s
o ==

(3) U Ulw =1 SEd @Al ° 9 26l B, A 5§ B w0 Al il w1 A8 2|
(4)  ofsm =1 FE A T8 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11161]

2[Option ID=11162]

3[Option ID=11163]
4[Option ID=11164]

Sl. No.17
QBID:1007167




A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He
again turns left and walks for 6 km. At this point he turns to his mght and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3} 4 km and South (4) 8 km and West

(1) 1
(2) 2
(3) 3
(4) 4

uF FEHt I F AR 6 T T | 30 9 9 96 9N ge 4 el aea 21 9w e a e g 2
3R 6 Tt =iar 2| @@ 97 T ga1 2 R 6 TRt T 2| 97 @ TeE fag ° et o 2 o

i~

T HEY

(1) 10 Tt 3 afv=m (2) 6 Tl 37 =tam
(3) 4 Tt wilT ofeqm (4) 8 Tt =7 ufram
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]

Sl. No.18
QBID:1007168

A.B. C. D. E. F and G are sitting in a line facing the East. C 1s the immediate right of D. B is
at an extreme end and has E as his neighbor. G is between E and F. D 1s sitting third from
the South end. Who are the persons sitting at the extreme ends?

(1) Aand E 2y AandB
(3) Fand B (d) CandD
(1) 1
(2) 2
(3) 3

(4) 4




A B.C.D.E.F 3R G Wa # foon d 4z %% v o 4 93 2| D % o= aifed C 31 B v sAf=m
W 7 At E 39%1 9=l 21 E A F & o9 5 G 21 D gianl il 9§ =@ 9 s 2| At 5w we
AR WS £ 7

(1) A3RE (2) A3RB
(3) F 3 B (4 C3RD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11169]
2[Option ID=11170]

3[Option ID=11171]
4[Option ID=11172]

Sl No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation 1s in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are verv low.

(11) If the travel rates are not increased. deficit cannot be met.

(1) Only assumption (1) 18 impheit.
(2) Only assumption (1) 15 implicit.
(3) Both assumptions (1) and (11) are impheit.
(4) Neither assumption (1) nor (1) 1s implicit.
1)1
(2) 2
(3) 3

(4) 4




= U § T 3R qEI-9WO 4 5% 3| 9T W EER FF H-gRE F IR W ¥E =EeT # 99
rﬁlr;:”.\l

7 qftasd e = w9 g | 21| Fm S A # o fewe-ow 1 gfg # ol fen 2
TE-UEOW (1) I A aRd 74

(i) e A= # gy 7 A A, d g A
(1) e qE-awm (1) F st 2
(2)  hael TH-9EI (ii) F I 2
(3) = - (1) 3R (D) Tt 2
@) AT gE-aEm ) A A (i) -
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11173]
2[Option ID=11174]
3[Option ID=11175]
4[Option ID=11176]

Sl. No.20
QBID:1007170

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of myv brother. How 1= woman related to Ram?

(1) Aunt {2y Mother

(3) Wife (4) Grand Mother
(1) 1

(2) 2

(3) 3
(4) 4

T 4 FE § FE F IHF G0 @S0 OiEe # UF 9id) 2 A 9 9IS i Sheldl 591 2| 39 Higdl &1 09 9
T T 7Y

(1) == (2) =T
(3)  ue (4) =
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11177]
2[Option ID=11178]
3[Option ID=11179]
4[Option ID=11180]

Sl. No.21
QBID:1007171

A tube can fill a tank completely in 18 hours. After half the tank 1s filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?

(1) 13 hrs 10 min (2) 14 hrs 30 min
(3) 14 hrs 20 min (4) 13 hrs 30 min

(1) 1
(2) 2
(3) 3
(4) 4

wF Fofl UF FF B gAd: 18 02l W WAl 2| FF F AT W A % UTEI, TEF S UE 6 el |
&t | 9 BT WA | o Fel a9 T 2

(1) 13 92 10 fo9e (2) 14 92 30 {52

(3) 14 92 20 e (4) 1392 30 A=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11181]
2[Option ID=11182]

3[Option ID=11183]
4[Option ID=11184]

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve davs. nine men can do the same pilece of work in nine davs and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Girls (2) Women
(3) MMen {(4) Boys
(1) 1

(2) 2

(3) 3

(4) 4




7 SSta1 T % i 13 o7 § % whdl £ 6 w75 361 FE i 12 709 3 % W £ 9 7FY 3H1 FE w9
e g qun 6 gisene 36t F i 14 57 0 92 Ghdl 21 FIF g9d 53 77

(1) === (2) HlEem
(3) (4) =%
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11185]
2[Option ID=11186]
3[Option ID=11187]
4[Option ID=11188]

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 days for the work they did together. The
man's efficiency in the work was three times that of the boy. What are the daily wages of the
boy?

(1) Rs. 152 (2) Ra 112
(3) Rs. 88 (4) Rs. 80

(1) 1
(2) 2
(3) 3
(4) 4

TF FAfE AU OF FSH UF @Y 5 o7 FE FH F o g9gh €. 1,600 96 7| SA0E 2@d 95 | 7 =
oft| =5 it ufareT =1 Tl 27

(1) E, 152 2y = 112

(3) %, B8 (4) =% 80

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11189]
2[Option ID=11190]

3[Option ID=11191]
4[Option ID=11192]

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg. must be mixed with 30 kg of rice at Rs. 25 per kg. so
that the shopkeeper may make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.5 ke (2) 23.5kg
(3) 24 kg (4) 245kg
(1) 1
(2) 2

(3) 3
(4) 4

30 T, =mae %, 25 WiaERan, 95 30 T =Eel WY s, 60 WA 9 e T =EE e o
TFFGR Y F1 F, 50 W R A= W 25% F A o 0

(1) 22.5 T (2)  23.5 FFm

(3) 24 T (4) 24.5 TFm

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11193]
2[Option ID=11194]

3[Option ID=11195]
4[Option ID=11196]

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 hitre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What 1s the value of X?

(1) 6 litre (2) 10 hitre
(3) 30 litre (4) 12 hIitre

(1) 1
(2) 2
(3) 3
(4) 4

U G A 2 1 3 % A A WiE gu a9 9 % 60 witer Weaw # ¥ X ofiex 1 uh A, ug g9 @ 9
oo T A SR A g9 3 O IEE A9 A w1 X F A = a e

(1) 6 et (2) 10 ==
(3) 30 = (4) 12 =
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.26
QBID:1014001

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The king during later Vedic period performed various sacrifices and rituals.

Reason R :

All these rituals and sacrifices impressed the people by demonstrating the power and
the prestige of the king.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(1) 1

(2) 2

(3) 3

4) 4

A ar FUaT € U YT AF w9 A TR ¢ a gEw e
FROT RS$ T H |

SHIAFUA A :
SecR-dfe i & SR T et a1 @R 3R 3iesoi e 4T |
HROT R :

T @l JiTeerT AR rfde @EPR Tem Fr afFa AR gfdaser F e
ZaRT @i @ gafad wRa o |

SWIFT FAA & el #, A1 U 70 Fehodl # § Fad 39GFd 3cc) &
T HITAT

(N AR REET WE § 3R R A S Gl e ¢

(2) A 3T REET @ € o R A T sarEar A9

3) A WEr & ofhet REE 81 & |

(4) AT A8 § ofFa RED B




1[Option ID=9601]
2[Option ID=9602]
3[Option ID=9603]
4[Option ID=9604]

Sl. No.27
QBID:1014002

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The dominant mode of worshipping the gods during early Vedic period was through
the recitation of prayers.

Reason R :

The Aryans worshipped gods during early Vedic period for their spiritual upliftment.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R is true

1) 1

(2) 2

3) 3

(4) 4

A QY Fu § : vH H@FUT AF w9 #F Af@a § o quu 39
FROTREF & H |

HHFYT A :

qa-dfes Frer & SR, FETErE H G F A v @A grdar g o |
FROTR :

qa-dfeeh HTel & SR, J A9 ITeAlicAs U & ToT Harar S g
A A |

IRFd FYA & Aol A, AT Ru v Feedt # @ ga@ 39g7d 3cR F
oI FifFT :

(0 AR REET TE § 3 R A S G crew @

2) A 3R REET TEr & afheT R, A @ sarEar gt §
(3) A TEr § afheT R TEY 78T §

(4) A Ter T & oifeheT REST &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9605]
2[Option ID=9606]




3[Option ID=9607]
4[Option ID=9608]

Sl. No.28
QBID:1014003

Which of the following Tamil works highlight the importance of Jaina philosophy 7

(1) Tirukkural

(2) Silappadikaram

(3) Sivaga Chintamani

(4) Manimekalai
1)1
(2) 2
3) 3
(4) 4

frafaf@a & @ s affe Ffa 3= @ F Ageca F weffa s g 2

(1 foreerper

(2) RreoafeaA
(3) Torarm RamTr
(4) AfTA=E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9609]
2[Option ID=9610]

3[Option ID=9611]
4[Option ID=9612]

Sl. No.29
QBID:1014004

The earliest known dockyard has been discovered at

(1) Kalibangan
(2) Lothal
(3) Rangpur
(4) Surkotada

(1) 1

(2) 2

(3) 3

(4) 4
HaH QAT AT G Fel § Hel § 2
(1) EACICE
(2) e
s

(4) TIFeer




1)1
(2) 2
(3) 3
(4) 4
1[Option ID=9613]
2[Option ID=9614]

3[Option ID=9615]
4[Option ID=9616]

Sl. No.30
QBID:1014005

The term *Yavanika® meant

(1) Foreign goods
(2) Dancer

(3) Curtain

(4) Theatre

1) 1

(2) 2

(3) 3

(4) 4

‘gafasr e & FIT 9D § 7
(1) ﬁaﬂﬁaﬁ

@ =
(3) 9T
(4) e
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9617]

2[Option ID=9618]

3[Option ID=9619]
4[Option ID=9620]

Sl. No.31
QBID:1014006

Kantakshodhanas of the Mauryan period were

(1) Royal treasuries
(2) Civil courts
(3) Criminal courts
(4) Police stations
(1) 1
(2) 2
(3) 3

(4) 4




A Frar F FeaMua F4T T 0
(1) AT AT

(2) SHaTeT 3igTerd

(3) BlsERT 3arerd

(4) gﬁqmm

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=9621]
2[Option ID=9622]
3[Option ID=9623]
4[Option ID=9624]

Sl. No.32
QBID:1014007

During whose time did Hiuen Tsang visit Kanchipuram, the capital of the Pallavas ?

(1) Marsimhavarman-I
(2) Narsimhavarman-11
(3) Mahendravarman-I
(4) Mahendravarman-11
1) 1
(2) 2
(3) 3
(4) 4

ﬁmméﬁamﬁfﬂﬁrm#wmrﬁmﬁmw
ghr foear ar 2

(1) A Hgaa-1
(2) R Hgaa-11
(3) HAergaHa-1
(4) Agrgada-11
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9625]
2[Option ID=9626]
3[Option ID=9627]
4[Option ID=9628]

Sl. No.33
QBID:1014008




Mandasor pillar inscription of the early 6™ century AD belongs to

(1) Anantavarman
(2) Mehirkula

(3) Toramana

(4) Yasodharman
(1) 1
2) 2
3) 3
(4) 4

63T 2rdTect $HT 9d # AGHR 3 HfFow fhad Heaftd § ?
(1) HeleddHAr
(2) IGIEC T
fa |

(3) ARATOT

(4) FaerAT
1)1
2) 2
(3) 3
4) 4

1[Option ID=9629]
2[Option ID=9630]
3[Option ID=9631]
4[Option ID=9632]

Sl. No.34
QBID:1014009

Which Gupta ruler has the maximum number of inscriptions belonging to his period 7

(1) Chandragupta-II

(2) Samudragupta

(3) Skandagupta

(4) Kumaragupta-1

(1) 1

(2) 2

(3) 3

(4) 4

fFE Ica T F oHase # HOFaw TEar # #fFew yreg g g 2
(1) Teaed-11
:

@ wEE
3 :

(3) Theaed
4 _
(4) FAT-1




(2) 2
3) 3
(4) 4
1[Option ID=9633]
2[Option ID=9634]

3[Option ID=9635]
4[Option ID=9636]

Sl. No.35
QBID:1014010

During whose reign did St. Thomas come to India ?

(1) Menander
(2) Moga

(3) Gondophernes
(4) Vasudeva
1) 1

2) 2

(3) 3

(4) 4

o arEasT H d@e UTAT SR 31T 9 7

(1) GG
(2) A

(3) Aieshaitar
(4) anilﬁfr

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9637]
2[Option ID=9638]
3[Option ID=9639]
4[Option ID=9640]

Sl. No.36
QBID:1014011

Which statement about Ajatashatru is nef true ?

(1) He is also known as Kunika.

(2) He annexed the kingdom of Lichchhavis.

(3) He was the last ruler of the Haryanka dynasty.

(4) The first Buddhist Council was held during his reign.
1)1
(2) 2
3) 3

(4) 4




FATTT F HIY H FiF-97 IJ2T T A7 € ?

(1)
(2)
(3)
(4)
(1) 1
(2) 2

(3) 3
(4) 4

T FAR & A7 T off I FT T |

Seale Tol=odl OE=T T farar &Far |

T ghF I F AT qEF T |

g% ATHAFIT H JUH dlg IRuS FT HAAS FRar 1w |

1[Option ID=9641]
2[Option ID=9642]
3[Option ID=9643]
4[Option ID=9644]

Sl. No.37

QBID:1014012

Anga mahajanapada was annexed to Magadha by which of the following rulers ?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Bimbisara
Bindusara
Ajatashatru
Mahapadma Nanda

HITE # 39T Agraaag & Arafaf@ag & @ 9 aus & e ar 2

(1)
(2)
(3)
(4)
1)1
(2) 2

(3) 3
(4) 4

ICIGE:IES
fagur

EEIGHES

|

HETIRT el

1[Option ID=9645]
2[Option ID=9646]
3[Option ID=9647]
4[Option ID=9648]

Sl. No.38

QBID:1014013




Which Rashtrakuta ruler got the Kailasanatha Temple built ?

(1) Krishna-1
(2) Krishna-I1
(3) Dantidurga
(4) Indra-I
1)1

(2) 2

(3) 3

(4) 4

fFE Tsgehe T & FRE™ AfY #1 fFH0T Hm@r ar 2

(1) FUT-1
(2) FE0T-11
®
(4) go-1
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9649]
2[Option ID=9650]
3[Option ID=9651]
4[Option ID=9652]

Sl. No.39
QBID:1014014

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

Zamindari settlement was also known as the Permanent Settlement.

Reason R :

In this settlement the rent to be paid by the peasants to the zamindars was fixed
permanently.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(1) 1

(2) 2

(3) 3

(4) 4




A g Fua € v WEwAa AF w0 F @ § O g5 sus
FRUT RF & H |

HIBFYA A :

SFHEHT deaTd FT TATHT Farasg o Far S o7 |

FRUTR

TH FEaEd H FUH @I FAGRT F A T = arar Faw Fir
Tt &7 ¥ Fuifa Grar smar ar

INFT FUA F Hells F A U av et § @ g9 39gFd 3cal #
T AT

(1) ANR RTET TEY & AT R A TEr wETr ¥

(2) A 3T R WEY & AfFa R A T TET cOTEAT AL §
(3) A WEr § dfhed R W@ el &

(4) ATEr Tgr & o REET &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9653]
2[Option ID=9654]
3[Option ID=9655]
4[Option ID=9656]

Sl. No.40
QBID:1014015

Match List I with List IT :

ListI List I
A Santhal Resistance I. 1831-32
B. Bengal Indigo Resistance I. 1875-76
C. Deccan Uprising III. 1859 —60
D.Kol Uprising IV. 1855-356

Choose the correct answer from the options given below :

(1) A-I B-IL C-III, D-IV
(2) A-II B-1. C-IV, D-III
(3) A-IIL B-IV. C-II, D-I
(4) A-IV, B-III. C-II, D-I
1) 1




(3) 3
(4) 4

T 1F |1y g 1 F Fen FifSw

SR T o

A TATST Ffarer I 1831-32
B. S9TTeT e gfaaer II. 1875—176
C.EFhd giarer III. 1859 — 60
D. 3o Jfarer IV.1855 — 56
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9657]
2[Option ID=9658]
3[Option ID=9659]
4[Option ID=9660]

Sl. No.41
QBID:1014016

Arrange the following events in chronological order from earlier to later :

Gandhi — Jinnah talks on the ‘Rajaji formula’
Simla Conference

Arrival of the Cabinet Mission

Direct Action Day

Lahore Resolution for Pakistan

moaOwp@

Choose the correct answer from the options given below :

(1) E,A,B,C,D
(2) E,D,A,B,C
(3) C,B,A,D,E
(4) B,C,D, A, E
(1) 1
(2) 2
3) 3

(4) 4




FrTaf@a geamsit HI FoeEh#As 9 & 95 § a6 & HA A cqaiedd
T -

A.

e B e

A

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

AT G o e - e ardr
Rysrer wwitar
Ffasie I &1 HEHEAT
SRFC TH 3

et faa= & sfFsas e

fou 717 TFedl & & HEF I #1 TI4 HIAT

E,A B CD
E,D A B,C
C,B,A,DE
B,C,D,AE

1[Option ID=9661]
2[Option ID=9662]
3[Option ID=9663]
4[Option ID=9664]

Sl. No.42
QBID:1014017

Arrange the following events in the chronological order from earlier to later :

monw >

Home Rule Movement
Montague — Chelmsford Reforms
Rowlatt Act

Lucknow Pact

Jallianwala Bagh Massacre

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

ADB,CE
A, D.C B.E
D,AB,CE
E.A,B,D,C




frafaf@T aearsl FF FegFas 7 F 9o § 98 F A J A9e0d
I

A gIH ®oT Higad

B.  HleIY - IFEHIE GUR
. ToE T

D. aEaF Hier

E. FATIIETT a1 gl
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9665]
2[Option ID=9666]
3[Option ID=9667]
4[Option ID=9668]

Sl. No.43
QBID:1014018

Arrange the following events in chronological order from earlier to later :

Al Kanpur conspiracy case
B. Kakori conspiracy case
i Foundation of the HSRA
D. Armed raid on the armoury at Chittagong
E. Foundation of the Swaraj Party
Choose the correct answer from the options given below :
(1) A B CDE
(2) E.D.C.B, A
(3) E.A,C.B,D
(4) E.A,B.C,D
(1) 1
(2) 2
3) 3

(4) 4




At gea3il FT Faghas 96 d dq & FA A Faedd HfSC
FIAR TSAT HFeHT

FIDNT STT HBGHT

TI.UH.AR.T T T

Rieana # T gden

. TEUS 9rél fr TrIer

A T 7T AFedl A § @Y 3o A aI HIAT ¢

mo N ® >

(1) ARCTHE
(2) E,D,C,B A
(3) E,A, CB,D
(4) E,A B,C,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9669]
2[Option ID=9670]
3[Option ID=9671]
4[Option ID=9672]

Sl. No.44
QBID:1014019

Match List I with List II :

List 1 List 11

A.Wood’s Despatch on Education I. 1854
B. Hunter Education Commission II. 1882 -83
C. Saddler University Commission I1.1917 - 19
D. Sergeant Plan of Education IV. 1944
Choose the correct answer from the options given below :
(1) A-1, B-I1, C-III, D-IV
(2) A-1L B-1, C-1V, D-III
(3) A-11, B-1, C-111, D-1V
(4) A-IV, B-IIL, C-11, D-1

1)1

(2) 2

3) 3

(4) 4




Hﬁla:maﬁua?rﬁﬂmaﬁ‘lﬁm:

g 1 g I

A RIET W g8 F Swona I 1854
B.geX fem 3mahr 1. 188283
C. #sor faeafagarer 3marr 1. 1917 - 19
D. |Tsic RIEm A= IV. 1944
A for aiv Reedt F @ @ 3o #1 9a fifSw
(1) A-1, B-I1, C-III, D-IV
(2) A-IL, B-1, C-1V, D-1I
(3) A-I1, B-1, C-1II, D-IV
(4) A-IV, B-III, C-11, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9673]
2[Option ID=9674]
3[Option ID=9675]
4[Option ID=9676]

Sl. No.45
QBID:1014020

Match List T with List IT :

ListI List IT
A.Nana Sahib I.  Lucknow
B. Hazrat Mahal II. Rohilkhand
C. Kunwar Singh III. Kanpur
D.Khan Bahadur Khan IV. Bihar
Choose the correct answer from the options given below :
(1) A-I B-IIL C-IL, D-IV
(2} A-IV. B-II. C-1. D-IIT
(3} A-II. B-III. C-I. D-IV
(4) A-IITL B-1. C-IV, D-IT

(1) 1
(2) 2
3) 3

(4) 4




=T 1F 91y g 13 Fers i

=T 1 = I

A, & g@ifgd I CICGE]
B. gsid Hgd 1. qfgeds
$ &F . FER

G TEIgl @A v. faEr
Fﬁ?‘l’ﬂ'ﬁwﬁ?ﬁ##w:rﬁ{ﬁﬂqﬂﬁﬁm

(1) A-IL B-III. C-II. D-IV
(2) A-TV. B-II. C-1. D-III
(3) A-II. B-III. C-I. D-IV
(4) A-IIL B-1. C-IV. D-II
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9677]
2[Option ID=9678]
3[Option ID=9679]
4[Option ID=9680]

Sl. No.46
QBID:1014021

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The moderates adopted liberal methods such as petitions and prayers.
Reason R :

The moderates had complete faith in the British sense of justice.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

1)1

(2) 2

3) 3

(4) 4




A ar wuaT U T AF w9 A R ¢ a gEw 3w
FROUT R &9 H |

FHIFFYA A :

AT 7 T 3R oAt S 3er agfadt & A |
FROTR :

aAdfaEt & i =t gt feamw ar |

SRIFT FUA & 3ol H, A4 QU 70 ehedl # § Fa9 39GFd 3cc) H
T FIfAT -

(h AR REET @8 & 3R R A S @ e §

(2) A 3R R TEr & Afa R, A Fr @& carEar A8 &
(3) ATE g afFa R AT §

(4) AT A8 & ofFT RTH B

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9681]
2[Option ID=9682]

3[Option ID=9683]
4[Option ID=9684]

Sl. No.47
QBID:1014022

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The colonial economic policies led to poverty and unemployment in India.
Reason R

It encouraged drain of wealth and deindustrialization in India.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4




A o FUT € TF AFFAT AF w7 # Of@T § o g 3§
$NUT R §F H |

HIHFYT A

sufaafas anfds Aifgat & aa F1 7= i aserd 1 3T g |
FRUTR

U 9RT H o7 F faswwa 3 Fsieateiseor & sicmfea &
3RIF FAA F H@h A A" U 7T [FFhedt # & Fa@ 39gFd a7
T ST

(1) AT R WET & 3T R A ST TEr cmETm F

(2) A T R TET & o R, A FT TET OTETT AET &
(3) ATEN § ofehed REET 8T &

(4) ATEI JE&T & aIfFad REET &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9685]
2[Option ID=9686]
3[Option ID=9687]
4[Option ID=9688]

Sl. No.48
QBID:1014023

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The British residents in India protested against the Ilbert Bill.

Reason R :

The bill proposed to establish social equality in the administration of justice.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4




A &Y Fu § U YA A w7 F AT & A g 38F
FROT RS §T H |

FHIBFT A

Ra # fafeer Tarfaat & sead ftas & & & |

FRUTR :

v fAdgs & ~g-waa # aAfas SR ® T & F 950G a1 |

IS FYA & el A, AR RU 70 RFwredt & @ #e@ 39gFT Seak H:
Ta+1 fIfaw

(1) A 3R REET @ § 3T R A 1 wfr carEa §
(2) AR R G € ST R A #T wEY carear 6T B
(3) AT & ofrT REE AT &
(4 A TS AGT ¢ ofhd REE &
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=9689]
2[Option ID=9690]

3[Option ID=9691]
4[Option ID=9692]

Sl. No.49
QBID:1014024

Who was the first Governor-General of Bengal ?

(1) Robert Clive
(2) Cornwallis
(3) Warren Hastings
(4) John Shore
1)1
(2) 2
3) 3
(4) 4
IS & TUH G-l died I 7
(1 {ac Forsa
(2) SHicTarierd
(3) ane gfedew
4) Sl AR
1)1
(2) 2

(3) 3




(4) 4

1[Option ID=9693]
2[Option ID=9694]
3[Option ID=9695]
4[Option ID=9696]

Sl. No.50
QBID:1014025

Pearl Harbour, an American Naval and Airforce base was attacked by

(1) Japan
(2) Germany
(3) Italy
(4) France
1) 1

(2) 2

(3) 3

(4) 4

JARET AT 3R AT &, 9ol g1k, W fhae g#en fhar ar 2
(1) ST

2) FHA

(3) gcall

(4) W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9697]
2[Option ID=9698]
3[Option ID=9699]
4[Option ID=9700]

Sl. No.51
QBID:1014026

Who laid the foundation of the * Asiatic Society of Bengal® in 1784 7

(1) Lord Hastings
(2) Halhed

(3) Charles Wilkins
(4) Sir William Jones
(1) 1

(2) 2

3) 3

(4) 4




a¥ 1784 # ufnfes @raEd e domer & Tagar Faa & o 2
(1 drs gfeeTw

(2) eoles

(3) aren faafeaa

(4) w fafeas =

1)1
(2) 2
3) 3
4) 4
1[Option ID=9701]
2[Option ID=9702]

3[Option ID=9703]
4[Option ID=9704]

Sl. No.52
QBID:1014027

Who translated the Gita and Hitopadesha into English ?

(1) Charles Wilkins
(2) William Jones
(3) Halhed

(4) Warren Hastings
(1) 1

(2) 2

3) 3

(4) 4

Sfrar 3T fearaeer & e e frue fomam ar 2

(1) aed faafeew
(2) s =g
(3) CERES
(4) In= giedsm

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9705]

2[Option ID=9706]

3[Option ID=9707]
4[Option ID=9708]

Sl. No.53
QBID:1014028




Who sent an expedition of Indian troops to Egypt to fight against Napolean ?

(1) Wellesley
(2) Curzon
(3) Hastings
(4) Bentinck

(1) 1

(2) 2

3) 3

(4) 4

aaiferas & foeg s ¥ O aRd ¥ & B@w fFes dom a1 2
(1) el
(2) Fatel
3) g
(4) Gl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9709]
2[Option ID=9710]
3[Option ID=9711]
4[Option ID=9712]

Sl. No.54
QBID:1014029

Who was the first Indian to be elected to leadership of The Communist International?

(1) S5.A. Dange
(2) Muzaffar Ahmad
3) M.N. Roy
(4) Jawaharlal Nehru
(1) 1
(2) 2
(3) 3
4) 4

FEAEFE EIEAAT F Aced F T I A I Tgel ARG FioT I 2
(1) UH.U. 31T
(2) HSFH 3gHAC

(3) TH.UA. T
(4) FAELATd Ag®
(1) 1




(3) 3
(4) 4

1[Option ID=9713]
2[Option ID=9714]
3[Option ID=9715]
4[Option ID=9716]

Sl. No.55
QBID:1014030

Who achieved martyrdom after a long epic fast in Jail ?

(1) Jatin Das

(2) Jatin Mukherjee

(3) Abdul Rahim

(4) Raja Mahendra Pratap
(1) 1

(2) 2

(3) 3

(4) 4

o # o9 3T F qeag RO afoege gar g3 2

(1) SfasT g
(2) Ffaer ﬂlﬂsﬁ
) Freger QA
(4) ST Hgog, 9T
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9717]
2[Option ID=9718]

3[Option ID=9719]
4[Option ID=9720]

Sl. No.56
QBID:1014031

Which session of the Congress passed resolution on Fundamental Rights and
Economic Policy 7

(1) Lahore session
(2) Karachi session
(3) Lucknow session
(4) Tripuri session

(1) 1

(2) 2

3) 3

(4) 4




Fo F g 3fSws # Alfes 3f8er ik 3l Hfa w gvae afa
o arar ar 2

(1) aERk feaE

(2) W oA

(3) GICCEIE LR

(4) Brglr sifedere

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9721]
2[Option ID=9722]

3[Option ID=9723]
4[Option ID=9724]

Sl. No.57
QBID:1014032

A National Planning Committee was set up under the Chairmanship of

(1) Jawaharlal Nehru
(2) Subhas Chandra Bose
(3) Jai Prakash Narayan
(4) Narendra Dev

1)1

(2) 2

3) 3

(4) 4

s aiser afafa fr wamaar adr sregerar & £ a8 o 0
(D ECISCICIG Y

(2) gAY Tz S

(3) ST W ARTEOT

4) Aeg &F

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9725]
2[Option ID=9726]

3[Option ID=9727]
4[Option ID=9728]

Sl. No.58
QBID:1014033




In which year was FICCI set up ?

(1) 1927
(2) 1929

(3) 1944

(4) 1950
(1) 1
(2) 2
(3) 3
(4) 4

Th.3S. @3S, fr e R av A7 gé ot 7
(1) 1927

(2) 1929

(3) 1944

(4) 1950
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9729]
2[Option ID=9730]
3[Option ID=9731]
4[Option ID=9732]

Sl. No.59
QBID:1014034

All-India Kisan Sabha was formed under the Presidentship of

(1) P.C. Joshi
(2) Sahajanand Saraswati
(3) Acharya Narendra Dev
(4) Jai Prakash Narayan
(1) 1
(2) 2
3) 3
4) 4

mﬁaﬂmﬁﬂ%&mw@rwﬁmﬁmﬂmﬁﬁﬁ?
(1) gr.dr. i

(2) Heolleeg, AiEadr
(3) A AL &F
(4) ST Wehr3l AT
(1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=9733]
2[Option ID=9734]
3[Option ID=9735]
4[Option ID=9736]

Sl. No.60
QBID:1014035

The All-India State’s Peoples’ Conference was founded in

(1) 1927
(2) 1928
(3) 1939
(4) 1943
(1) 1
2) 2
(3) 3
(4) 4
3t EfEar weeg dioew aa‘ﬁmzﬁr;tmmﬁ:\cra'&géaﬁ?
(1) 1027
(2) 1028
(3) 1039
(4) 1043
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9737]
2[Option ID=9738]
3[Option ID=9739]
4[Option ID=9740]

Sl. No.61
QBID:1014036

Self-Respect Movement emerged in South India under the leadership of

(1) E.V. Ramaswamy Naicker
(2) Keshavrao Jedhe
(3) Jyotirao Phule
(4) B.R. Ambedkar
1) 1
(2) 2
(3) 3

(4) 4




EfRIvT 9RA H cH-TFAT 3elolal I Scdicd fhash Aded # g5 Ao 2
(1) .. THEEE A ET

(2) FeAaTa A

A =ifewE

(4) dLHAR. HFaSH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9741]
2[Option ID=9742]

3[Option ID=9743]
4[Option ID=9744]

Sl. No.62
QBID:1014037

The Boston Tea Party was associated with the

(1) American War of Independence

(2) French Revolution

(3) American — Spanish War

(4) American Civil War

(1) 1

(2) 2

(3) 3

(4) 4

arecs &1 Tl T gear § dEfud § 0
(M 3ARE FaATAT g8

(2) e wife
3) 3AYH - T Fg
4) AR E I

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9745]
2[Option ID=9746]

3[Option ID=9747]
4[Option ID=9748]

Sl. No.63
QBID:1014038




Arya Samaj was established in which of the following year?

(1) 1875
(2) 1883
(3) 1885
(4) 1890
(1) 1

(2) 2

(3) 3

(4) 4

T FATST 1 9T Aeafaf@a & & g av 1 75 =60 2
(1) 1875
(2) 1883
(3) 1885
(4) 1890
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9749]
2[Option ID=9750]
3[Option ID=9751]
4[Option ID=9752]

Sl. No.64
QBID:1014039

Match List I with List II :

List 1 ListII
A.Magadha I. Shravasti
B. Kosal II. Girivraja
C. Avanti III. Kaushambi
D. Vatsa IV. Mahishmati

Choose the correct answer from the options given below :

(1) A-11, B-1V, C-1, D-11
(2) A-IV, B-III, C-11, D-1
(3) A-1IL, B-1, C-1V, D-III
(4) A-1, B-I1, C-111, D-IV

(1) 1

(2) 2

(3) 3

(4) 4




T 13 A G 1 A fife

g 1
A FATET
B. s
C.3afa
D.gcH

=
[ AmaEct

1. Afes
111, e
v #rfgsafa

= v 71v RFedl 7 T 98 3o & T3 HifFw

A-II, B-1V, C-1, D-11
A-IV, B-II1, C-11, D-1
A-IL, B-1, C-1V, D-III
A-L, B-11, C-I1, D-1V

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9753]
2[Option ID=9754]
3[Option ID=9755]
4[Option ID=9756]

Sl. No.65

QBID:1014040

Arrange the following in a chronological order :

Mmooy

Haryanka dynasty
Shishunaga dynasty
Shunga dynasty
Maurya dynasty
Nanda dynasty

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

B,AE.C,D
ABED,C
B.A,D,CE
D,A. B, CE




fArfaf@a # Feesa # sgaftag ffw .

A, Bd& 9u

B.  RREmWm &
. AT FA

D. A Fwr

E. &g au

#rr Br v RFedt & § 98 3ok F1 99T fifFv

(1) B,A,E,C,D
(2) ABEDC
(3) B,A,D,C,E
(4) D,A,B,C,E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9757]
2[Option ID=9758]
3[Option ID=9759]
4[Option ID=9760]

Sl. No.66
QBID:1014041

Arrange the following in a chronological order :

A, Bindusara

B. Dasaratha

. Mahapadma Nanda
D. Bimbisara

E. Brihadratha

Choose the correct answer from the options given below :

(1) E,D,C,B, A
(2) D,C,A,B.E
(3) ABCDE
(4) DA BE
(1) 1
(2) 2
(3) 3

(4) 4




fFrfaf@a # FonsAa # sgafiaa G :

A fegER

B aaiyg

C HEIHH Ao
D ICIGE;IES

E geay

[ 4

#Frr fw av BFeat & @ 98 3cw #7199 fifew

(1) E,D,C,B,A
(2) D,C,A,B,E
(3) ABnCon
(4) C,D,A,B,E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9761]
2[Option ID=9762]
3[Option ID=9763]
4[Option ID=9764]

Sl. No.67
QBID:1014042

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The prostitute was protected and supervised by the Mauryan State.

Reason R :

Spies did much of their work with the help of the prostitutes.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

1) 1

(2) 2

3) 3

(4) 4




A o Fua € : oF dWFuT AF w1 F fEa ¢ @ g 3w
FRUT RF 7 H |

HIHAFYA A

A HF SaRT JATHT HT EIETOT &A1 AT AT T 3R FEREh
S & |

FRUT R :

SH 39T 3RHR F, A3 Hr FgrEar F Ko o |

IRFA FYA & Helleh # A Rw a1 Fvedl # & Ae@ 39gFd 3cR &
g« fifaw

(1 AR ReET @ € 3 R A& @ srEa §
(2) A 3R R T & afFa R A #T T8 sarear F8 &
(3) ATE E afpT RES AT &
(4) AT AT g T REST &
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=9765]
2[Option ID=9766]

3[Option ID=9767]
4[Option ID=9768]

Sl. No.68
QBID:1014043

Which monk from Nalanda went forth to convert Tibet to Buddhism 7

(1) Padmasambhava
(2) Ashvaghosha
(3) Buddhamitra
(4) MNagasena

1) 1

(2) 2

(3) 3

(4) 4

ATeieT ¥ frg dig ey F eag #1 9l o F ofEfda == &1 F9 Far 2
(1) THAT

(2) 32T
(3) ERIEE]
4) ATTEA

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=9769]
2[Option ID=9770]

3[Option ID=9771]
4[Option ID=9772]

Sl. No.69
QBID:1014044

The caravan leader in ancient period was known as

(1) Sarthavaha
(2) Shreshthin
(3) Jyesthaka

(4) Pramukh

(1) 1

(2) 2

3) 3

(4) 4

ARITOTh el H FHRaET THE FI FIT FHel Sl AT ?
(1) ardarE

(2) Afesa
(3) FASeH
&
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9773]
2[Option ID=9774]
3[Option ID=9775]
4[Option ID=9776]

Sl. No.70
QBID:1014045

Who among the following was the first to become a Buddhist nun 7

(1) Yasodhara
(2) Gautami
(3) Sujata

(4) Mahamaya
1) 1

(2) 2

(3) 3

(4) 4




faf@a # ¥ Fla gawya dig Hepoh =0 of 2
(1) FRAMERT
2) it
(3) HATAT

)
(4) HeTHTT

1) 1

(2) 2

3) 3

4) 4

1[Option ID=9777]

2[Option ID=9778]

3[Option ID=9779]
4[Option ID=9780]

Sl. No.71
QBID:1014046

Who was the founder of the Pasupata Cult 7

(1) Vasugupta
(2) Kallata
(3) Basava
(4) Lakulisa
1) 1

(2) 2

(3) 3

(4) 4

mpﬁw¢wma?

(1) T

(2) Foolc

(3) CRaC

(4) Sehfordr
e |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9781]
2[Option ID=9782]
3[Option ID=9783]
4[Option ID=9784]

Sl. No.72
QBID:1014047




Which of the following statements are correct 7

moaowp

Chandragupta-I started the Gupta era.
Samudragupta was succeeded by Chandragupta-1L
Harisena was the court poet of Samudragupta.
Samudragupta defeated the rulers in Southern India.
Samudragupta assumed the title of Vikramaditya.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A,C. D
Only A, C.E
Only B, C,E
Only B, C.D

TR s Fsag s g g

A

m Qo 0w

(1) 1
(2) 2
(3) 3
(4) 4

Teed-15 I°d Had FT ARH FRar o |
FHEST F ScadiasnT Igead-1I Y |

g FHEIT F U Hid & |

THSEICT o SI&0T AT & ATHHI FI gUIAT 27 |
HHeAIod HI [SRATEeT T 397 &1 1S AT |

1[Option ID=9785]
2[Option ID=9786]
3[Option ID=9787]
4[Option ID=9788]

Sl. No.73

QBID:1

014048




Match List I

List
Manda
Sanghol
Mittal
Hulas

SO wp

with List II :

L
1L

I
Iv.

List 11
Haryana
Jammu
Punjab

Uttar Pradesh

Choose the correct answer from the options given below :

(1) A-I1, B-1IL, C-1, D-IV
(2) A-I1, B-III, C-1V, D-I
(3) A-1, B-I1, C-11, D-IV
(4) A-IV, B-IL, C-I1, D-1
(1) 1
(2) 2
(3) 3
(4) 4

T 1% | = 1w e fife

1
A Hier
B. @il
C. Fcae

D gorw

L.

=T 11
g

1. S8
[11. 9aTe
V. 3] 931

A Bv v RFedl # § 98 3ccX F 994 HifFv

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-11, B-II, C-1, D-IV
A-I1, B-II, C-1V, D-1
A-1, B-11, C-II1, D-IV
A-IV, B-II1, C-11, D-1

1[Option ID=9789]
2[Option ID=9790]
3[Option ID=9791]
4[Option ID=9792]

Sl. No.74

QBID:1014049




Match List I with List II :

ListI
A Ahar L.
B. Eran 1L
C. Jorwe I11.
D. Mabhishdal Iv.

List Il

Madhvya Pradesh
Rajasthan
Bengal
Maharashtra

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-IIL, B-IV, C-1, D-11
A-1V, B-11L, C-11, D-1
A-lL B-1, C-1V, D-11I
A-l, B-11, C-111, D-1V

Hﬁx%maﬁuwﬁmaﬁlﬁv:

aj‘ru

g4 1
A AT
B. et
c. SR
D.  HfguEd

[ HET 9
II. e
[11. STl

IV, HERTSE

I Br v RFedt & F 98 3cox F 7™ fifFw

(1)
(2)
(3)
(4)

A-IIL, B-1V, C-1, D-11
A-IV, B-1I1, C-I1, D-1
A-1l, B-1, C-1V, D-III
A-1, B-11, C-II1, D-IV

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=9793]
2[Option ID=9794]

3[Option ID=9795]
4[Option ID=9796]

Sl. No.75
QBID:1014050




Given below are two statements :

Statement I :

The Harappan civilisation had a trade link with the outsiders.
Statement 11 :

Many Harappan seals have been found in Mesopotamia.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement | and Statement 1l are true
(2) Both Statement | and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement I is true

1)1

(2) 2

3) 3

4) 4

#rr & Fya Br av § -

FYA I

ESTqT WA & aTgd arell & A1 A9 H@ew & |

FUA 11 :

3ol ggoar Higl AAeFEar # a5 7S5 & |

39FT FUA F el A, AW QU 3w R{ewedl # @ @a@ 39gFd IR
TIT FIfFT

(1) T w130 nEe &

(2) AT FU=T 137 13\ §

(3) FYT 18T § Wed FUA 1130 &
(4) FYA 130T § W FUA 1 HF &
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9797]
2[Option ID=9798]
3[Option ID=9799]
4[Option ID=9800]

Sl. No.76
QBID:1014051




Grven below are two statements :

Statement [ ;

The Mauryans held an elaborate administrative structure.
Starement Il ;

The Mauryans paid their otficials through grant of land.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement I1 is false
(4) Statement I is false but Statement 11 is true

1)1

(2) 2

3) 3

4) 4

Jr & sy fow v §

FEA 1

AT araa 7 caras wfaE @3ger fAggae o |
FLA I :

A ared, 39 FfERET B HA IEaE F w9 A A wa F |
ﬂ%mﬁmﬁ,mmmﬁwﬂﬁﬂmzﬁﬁmw
Tqa fIfFT

(1) gt Fu 13K naT §

(2) 2t FueT 131 13\ §

(3) FUT 1 HA § W] AT 1 AT &
(4) YA | A ¢ e HIA 1T §
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=9801]
2[Option ID=9802]
3[Option ID=9803]
4[Option ID=9804]

Sl. No.77
QBID:1014052




Given below are two statements : one is labelled as Assertion A and the other is

labelled as

Reason E.

Assertion A :

In the year
Rebellion.

Reason R :

1679 after the death of Maharaja Jaswant Singh, there was Rathore

The issue was to handle the question of the succession to the throne.
In the light of the above statements, choose the most appropriate answer from the
options given below

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A is correct but R is not correct

A is not correct but R is correct

A 3 FAST € TH HEFUA AF w0 F Of@T g o g5 3us
FNUT R+ §T H |
HIHFYT A

T 1679 F FERI THad Ag F Hog F TeAd Tols Rgig garm o |

FNRUT R

5T g FT FROT 7E 9T 3cTUNSR F Fod ¥ aiaT o7 |

IS

FUA F A’AS A AR QU 7T BFedt # § 790 39GFF e} #

T AT ;

(1) AT RERT BT € 3R R A ot carETT ©
(2) AT RAAT T & afrd R A Fr TEr AT AT &
(3) AT F AT REET AT F
(4) ATfragr g AT rREET £

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9805]

2[Option ID=9806]

3[Option ID=9807]

4[Option ID=9808]

Sl. No.78

QBID:1014053




Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A :

In the First Battle of Panipat in 1526. Babur with the help of 12000 soldiers defeated
Ibrahim Lodi who commanded an army of approximately 1.25.000.

Reason R :

Babur displayed exceptional military strategy with the use of gunpowder and fire
arms.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 1s not correct but R 1s correct

(1) 1

(2) 2

(3) 3

(4) 4

A a1 FUF € | TF AFFYA AF F # Of@T & ar ggv 35+
FROT RF & H |

HIHAFYT A -

a¥ 1526 F I F FUA IS A 9@ A 12000 dfFwr Hr w@EREr €
TITHIT 1.25.000 FT BiF ITer SAEH SAET Fr FEAT AT |
FRT R :

A A ARG A ATAAER F FART H Fepse Aed WIS FT T80
forar ar |

3T FIF F Aed A A Gr v JFedt & & ga@ 39gFd 30 #7
TIq HiAT

(1) AT RIAT TET & 3T R A T g B

@) A AT R w8 ¥ AT R A Fr T T A4 ¥
(3) ATE g Afa REE FET §

(4) AT AT g afra rEET &

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=9809]
2[Option ID=9810]
3[Option ID=9811]
4[Option ID=9812]

Sl. No.79
QBID:1014054

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

According to modern historians like Doughlaus Stressnaud and Michael Hodson, the
Islamic Empire is associated with gunpowder hypothesis, the use of which led to
larger extent of empire.

Reason R :

Babur and his grandson used gunpowder and musketeers to win several battles to
establish the Mughal Empire in India.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A 1s not correct but R is correct

1)1

(2) 2

3) 3

(4) 4

A 3 FUST € UF HFFUA A% § F Of@T & O g5 365
FROT RF §T H |

HIBFYT A :

YT sTaEmsRl S STaw ®KEAs #HR AESd g5 F gEn.
SEANAF ATHF. a%g FI HTUROT § 2 &. 50@F TI0T ¥ 3985 WHST
F1 FFIR g3 |

&NUT R :

T 3T 39F 99 7 ARG H T FHT H T F T aas gar
F Ada F U a6 AR St F1 g3 B

3qUFT FAST F Aol H A= T 710 et & @ §a@ 397+d 3eal 7
T HITAT ;

(1) AR REET Tar & 3T R A FT TwEr sarETr g

2 A AR REEAT ®Er § AR R, A FT WEr carEm 79§
(3) AW E AfaT REE FET €

(4) A WE AET & AAfhd RTET &




(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9813]
2[Option ID=9814]
3[Option ID=9815]
4[Option ID=9816]

Sl. No.80

QBID:1014055
Match List T with List IT :

ListI
(Travellers/Merchants)

A William Finch I
B. Ibn Battuta 1II.
C. Ralph Fitch I

D. Francois Bernier IV.

ListIT

(Kings)

Shah Jahan

Muhammad bin Tughlaq
Jahangir

Akbar

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-IIL. B-II. C-IV. D-I
A-I B-IL C-IV, D-III
A-II. B-IV, C-III, D-I
A-IV, B-1. C-II. D-III

& 1% g g&1r 1 e fifao

D.

L

Rfems =
R S G
e e
WA afe e

I
I eMgsier
II. HgFAg faa o=

I1I. ST
IV. a7

e foT aT et # ¥ WEr 3o} #9949 FifST

(1)
(2)
(3)
(4)
(1) 1

A-III, B-II. C-IV. D-I
A-I B-II. C-IV. D-III
A-II. B-IV, C-III. D-I
A-IV, B-1. C-II. D-III




(2) 2
(3) 3
(4) 4
1[Option ID=9817]
2[Option ID=9818]

3[Option ID=9819]
4[Option ID=9820]

Sl. No.81
QBID:1014056

Given below are two statements :

Statement [ :

Akbar evolved a set of mutually consistent religious ideas from a multiplicity of
sources in the form of Sulh-i-kul and Tauhid-i-Ilahi.

Statement 11 :

Man Singh, one of the nine jewels during Akbar's court, was an ardent follower of
Tauhid-i-lahi.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement I1 is false
(4) Statement I is false but Statement 1 is true

(1) 1

(2) 2

3) 3

4) 4

A & Hua fgrw 7w §

FEe [

HeheR o Heorg-U-pel IR AQE-vged F ¥ H Fgd Wil @ IR qeAd
i fFarurr i wrger #r |

FT 11 -

IFe &R & AHcAl H Tk A g, Alele-T-geel & Fgd 3ganh I |
394Fd FYUA F Held A, A QU aw et # & @8 39gFd SeaW #
T FifST

(1) At wue 131k nac §

(2) giel FUT 3R 1138 €

(3) FYUA 1 TE § W HUA 11380 &
(4) FYUA 130T ¢ W] 94 1A ¢
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=9821]
2[Option ID=9822]
3[Option ID=9823]
4[Option ID=9824]

Sl. No.82
QBID:1014057

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

Akbar had a very powerful army led by his trusted Mansabdar Man Singh for his
expedition during the war with the Sisodias of Mewar.

Reason R :

It was during Jahangir's reign under the able leadership of Prince Khurram, the
Sisodias of Mewar surrendered.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4

A & U § : UF AT AF w9 A fof@a ¢ guu 3wF
HROT R &7 H |

FHIHFT A

#Aars & fifear & @ gg & 2R@, 3w & o Aee o9 fvaadda
AOIER & Aded A Hcgd ufFdemel J=r o4 |

FRUTR :

ST & AR & NI TFAFAR YA & dAded 7 Aas & fHnfear
o AFcATAYOT fRar ar |

IWIFA FYA & el A, A T a0 Fedl # & G4 39T SoR H
T HIST :

(1) A AR REET TE E 3R R AH 7 cmrE

(2) A 3R REET T § o R A Fr o e af &
(3) AT ¢ ofhT REE 8T &

(4) AT A ¢ T RIS &

(1) 1

(2) 2

(3) 3
(4) 4




1[Option ID=9825]
2[Option ID=9826]
3[Option ID=9827]
4[Option ID=9828]

Sl. No.83
QBID:1014058

Which ruler in Northern India constructed canals from the Yamuna and Sutlej rivers
to urrigate waterless tracts in Haryana and Eastern Punjab ?

(1) Muhammad bin Tughlaq
(2) Firoz Shah Tughlag
(3) Shershah Suri
(4) Shah Jahan
1) 1
(2) 2
(3) 3
(4) 4

e s @R Seak WA A, gRAOT AR gt goie 7 Sorfed A H
e & fow aoem 3R ades Afeat & et #r fAavor fvar arar ar 2
(1) mmaﬁa?rﬁjw

(2) RISt emg Jatersh

(3) AT Hq

(4) ATE el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9829]
2[Option ID=9830]
3[Option ID=9831]
4[Option ID=9832]

Sl. No.84
QBID:1014059

The word Sagiya would mean

(1) Goblet

(2) Wine cup

(3) Tumbler

(4) Persian Wheel
(1) 1
(2) 2
3) 3

(4) 4




reg ‘FIfFHITFT Y &

(1) Tl

(2) AT & 91T
(3) Frema

(4) qrRdr gfgar
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9833]
2[Option ID=9834]
3[Option ID=9835]
4[Option ID=9836]

Sl. No.85
QBID:1014060

Abdur Razzak Samargandi, the fifteenth century ambassador was sent to Southern
India by which Mongol ruler, where he describes wide-eyed the gems he saw
everywhere in the great Southern capital of Vijayanagar 7

(1) Timur
(2) Shahrukh
(3) Halaku
(4) Babur
1)1

(2) 2

(3) 3

(4) 4

fore Halter omHs ZERT AT RE H YgEdl el F TSieg Hegl T
ARG FF 9= 1. S8 gffur ang f1 #ge TeuEr e 7 &
SAE F9EUar F f@s T a9+ FuiT R ar o

(1) a

(2) AMETE
(3) I
(4) CICRy
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9837]
2[Option ID=9838]




3[Option ID=9839]
4[Option ID=9840]

Sl. No.86
QBID:1014061

The East India Company's army defeated the Sikhs at the bloody battle of
Chillianwala after the death of Ranjit Singh when Punjab quickly descended into
anarchy. The battle was fought on

(1) 13 January 1849
(2) 21 February 1849
(3) 12 March 1849
(4) 17 April 1849

1) 1

(2) 2

(3) 3

(4) 4

Eird [8g &1 #cg & 99d1d, Sd Golld # 3Rl 3cde 81 75 or $e
g3 Fuet & ¥ o Rafeiarer & @&h sior 7 f&at #F g ar | 3%
ST Fa Sy S A 0

(1) 13 STIaS 1849

(2) 21 BT 1849

(3) 12 AT 1849

(4) 17 378 1849

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9841]
2[Option ID=9842]

3[Option ID=9843]
4[Option ID=9844]

Sl. No.87
QBID:1014062

Who translated the Atharva Veda in Akbar's Court 7

(1) Haji Ibrahim Sirhindi

(2) Nagib Khan

(3) Mustata Khaligdad

(4) Shah Muhammad Shahabadi
(1) 1
(2) 2
3) 3

(4) 4




3haY & eXaR H 3Ydde @ 3w e & 2

1) gt s wR
(2) e @

(3) HAEAHT Aifcisarg
(4 AE AlgFAS RS

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9845]
2[Option ID=9846]

3[Option ID=9847]
4[Option ID=9848]

Sl. No.88
QBID:1014063

The first indication of Akbar's interest in translating Indian works was when he asked
to translate the Singhasan Battisi and this was entrusted to

(1) Abdul Qadir Badaum
(2) Shaikh Abul Fazl
(3) Khwaja Hasan Marwi
(4) Nizam-ud-din Ahmad
1)1
(2) 2
(3) 3
4) 4

AT FEAT F Hegae H 3w H o F IY7 TFd 99 30 99 304
figwa It ¥ wee ¥ o Fgr | 77+ fFy @i a2

D arge Fley Fargn
(2 AW HA FAA
(3) TITT g0 ARET

“@ GEIE A N Lo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9849]
2[Option ID=9850]

3[Option ID=9851]
4[Option ID=9852]

Sl. No.89
QBID:1014064




Where was the horse collar first developed ?

(1) Mongolia
(2) Persia
(3) Kabul
(4) China
(1) 1

(2) 2

3) 3

(4) 4

012 F TAIST (FleR) FI TAYYH Fgl @ ad [HAT AT AT 2
(1) Fanrferar

(2) B

(3) FIaol
¥

(4) EIG

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9853]
2[Option ID=9854]
3[Option ID=9855]
4[Option ID=9856]

Sl. No.90
QBID:1014065

The practice of variolation or inoculation against Smallpox was first reported from
which place in 1731 ?

(1) Kalpi
(2) Bengal
(3) Jaunpur
(4) Koel
1) 1

(2) 2

3) 3

(4) 4

g% 1731 & g & A9 399N I1 Shenior, GaWYH Ser L har ar
T ?

(1) el
(2) e
(3) ST
@) Frea




(2) 2
3) 3
(4) 4
1[Option ID=9857]
2[Option ID=9858]

3[Option ID=9859]
4[Option ID=9860]

Sl. No.91
QBID:1014066

Which is the youngest Dravidian language that established its full identity and
distinctive quality only in the sixteenth and seventeenth centuries 7

(1) Tamil

(2) Malayalam
(3) Telugu
(4) Kannada
1) 1

(2) 2

3) 3

(4) 4

g8 Sia-dr ad=ad g3 awr § Sae dieedt iR gegdt aafeeat &
39+ Ut wga AR fafise aor waifda e 4 2

(1) afae
(2) AoATHH
® g
(4) Fels
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=9861]
2[Option ID=9862]
3[Option ID=9863]
4[Option ID=9864]

SI. No.92
QBID:1014067

Lilavati — the work from the pen of the learned of India in Arithmetic was translated

by which was of non-religious literature.
(1) Shaikh Mubaraq

(2) Shaikh Abul Fazl

(3) Shaikh Abul Faizi

(4) Abdul Qadir Badaum

(1) 1




(2) 2

(3) 3

(4) 4

Areadr - HeaTe F. HHFA0IT H ART ¥ fFeaa or@s Hf Fa7 &
gea, v R-fdis wfger & Sww s & R

(1) AT HAH

2) NG 3T Aol

(3) AW e
(4) el FIfeT TG

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9865]
2[Option ID=9866]

3[Option ID=9867]
4[Option ID=9868]

Sl. No.93
QBID:1014068

Name the Sufi Saint who appreciated the market reform policy of Alauddin Khilji
and spoke about his philanthropic motives ot the Sultan.

(1) Shaikh Farid
(2) Nizamuddin Auliya
(3) Mahmud Chirag of Delhi
(4) Bahauddin Zakarya
1)1
(2) 2
3) 3
(4) 4

39 gAY Ha H AH aq13Y, FEe eEda @esh & aer gur Afa @
u&mﬁmmwﬁwmﬁmmﬁwm?

(1) g wig

(2) ﬁa@w&ﬁﬁm

(3) ool & #Agag R

(4) EREHGRCE IS

(1) 1

(2) 2

(3) 3
(4) 4




1[Option ID=9869]
2[Option ID=9870]
3[Option ID=9871]
4[Option ID=9872]

Sl. No.94
QBID:1014069

When Jalal-ud-din Khilji ascended the throne of Delhi Sultanate, who was the
Governor of Kara Manikpur who revolted against the Sultan ?

(1) Alauddin Khilji
(2) Malik Chajju
(3) Akat Khan
(4) Mubaraq Khilji
1)1
(2) 2
3) 3
(4) 4

STeiTelEre @erst & feeeh Hedad $T 7 W dod THG F3 AR FT
TR Hie °T, o ool & faeg fage far ar 2

(1) Hensda [&etoir

(2) afos ao

(3) b @il

(4) Ao el

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=9873]
2[Option ID=9874]
3[Option ID=9875]
4[Option ID=9876]

Sl. No.95
QBID:1014070

According to the calculations by Angus Maddison in a recent major historical survey
of the world economy, the gross domestic product of India in 1700 amounted to

(1) 22.8 %
(2) 23.5%
(3) 24.5 %
(4) 25.6 %
(1) 1
(2) 2
(3) 3

(4) 4




foRa srdegeaear & gl & wog@ Udeias wdeoT A, W ASEA gaERT
IS WOEAT F AR, 1700 A AR F Fohel W 379G AT

(1) 22.8 %
(2) 23.5 %
(3) 245 %
(4) 25.6 %

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9877]
2[Option ID=9878]
3[Option ID=9879]
4[Option ID=9880]

Sl. No.96
QBID:1014071

Muslim chroniclers describe a large beast rhinoceros with different names. Who was
the earliest among them ?

(1) Ibn Battuta

(2) Al-Biruni

(3) Bayazid Bayat
(4) Muhammad Basir
(1) 1

(2) 2

(3) 3

(4) 4

Aterw sfagat #. 92 faeme st 1 - amst & avia frar &
TTY Ugd JUIT FI T FiT T 0

(1) Fed T

(2) HT-aFaAT

(3) AT FIT

) AlgFAg THR
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=9881]
2[Option ID=9882]
3[Option ID=9883]
4[Option ID=9884]

Sl. No.97
QBID:1014072




Inam land refers to which of the following ?

(1) Land grant to peasants
(2) Land grant to nobles
(3) Land grant to religious institutions
(4) Land grant to soldiers
1)1
(2) 2
(3) 3
(4) 4

$aH R frafafaa # ¥ fFad H@efEia § 2
() g o s

(2) EE T H{A Hee=

(3) U FEATEr F A e

5 & @ A segarT

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=9885]
2[Option ID=9886]
3[Option ID=9887]
4[Option ID=9888]

Sl. No.98
QBID:1014073

The city of Jaunpur was founded in the memory of

(1) Balban
(2) Alauddin Khilji
(3) Muhammad Tughlag
(4) Ferozshah Tughlaq
1) 1
(2) 2
(3) 3
(4) 4

ST e Fr FATAT FrEdr wfa 7 o o
(1) ToTaeT

(2) FAT3ET W&ol

(3) AlgFAg IIeH

(4) fiisemg TITers

(1) 1




(2) 2

(3) 3

(4) 4

1[Option ID=9889]
2[Option ID=9890]

3[Option ID=9891]
4[Option ID=9892]

Sl. No.99
QBID:1014074

Which Sultan prohibited women from worshipping at the graves of the Saints ?

(1) Balban
(2) Alauddin Khilji
(3) Muhammad bin Tughlag
(4) Firoz Shah Tughlaq
(1) 1
(2) 2
(3) 3
4) 4

o gedler o ARG F1 ddl HI AGR W gl 4 & gfaaiaa Bhar an
(1) CEEC

(2) Fe3E f@ersh

(3) mmaﬁﬂﬂ?w

(4) fﬂﬂ’lﬁﬂggﬂw

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=9893]
2[Option ID=9894]
3[Option ID=9895]
4[Option ID=9896]

Sl. No.100
QBID:1014075

Which Sultan of Delhi got the Qutub Minar repaired, cleaned the derelict Hauz Khas
and erected on its bank a Madarsah ?

(1) [tumish
(2) Alauddin Khilji
(3) Firoz Tughlaq
(4) Sikandar Lodi
1)1
(2) 2
(3) 3

(4) 4




feeeh & e Fodia o Fad AR $ 7GHT =15 AR F@fza g @
F TF FAAT TAT 3T FAT Hedw T TUTET v 2

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

SoddiaAer
Fe3er f@ersir
st qerers
et «idr

9897]
9898]
9899]
9900]




